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RASHTRIYA INDIAN MILITARY COLLEGE, DEHRADUN

ENTRANCE EXAMINATION - JUN 2022

SUBJECT: MATHEMATICS
MM: 200

TIME: 1Hr 30 Mins
Instructions:

il

Q1
£, Q.2

Q.3

Q.4

Q.5

Q.6

separately on the answer sheet to be provided at

Attempt total 30 questions. Write your answers : .
the exam centre. / ﬁﬁ'&ﬂt{ﬁ'&&ﬁﬂi 3R, P30 ﬂﬁ?ﬁﬁﬂﬁl mmmmﬁ@ﬁ

Part ‘A’ contains 23 questions and each question in this part carries Five marks’. Answer any 20
questions only. / WRT &’ 3 wf) 73 U 9T B & SR T Pl 23 wy 21 fardh +ft 20 79 HT IAL &

Part ‘B’ contains 12 questions and each question in this part carries ‘Ten marks’. @;my.lQ
questions only, / HTTT @ & T T4 G S & R 7 1 12 g% 21 e ot 10 e T SR G

Use of Calculator is Prohibited. Marks will be awarded for steps.
T TR e W WA 2 | 9fp € AR o S

Take the value of m as ?/ Tt DI HIT 273 fafsma
_T%he question paper can be retained by the candidates post exam./ e 3 aTe ufeemlf Uy O 1 ° S Thdl
I
PARTA (20 x5=100 MARKS)
(Answer any 20 / fft 20 weat F 3T E)

5y-3 2 :
((2) ) = ;’—Sﬂ Find the value of y / y T %1 1d <1

7 401’
h is a perfect square and is divisible by each of the

Find the least number whic
mﬁﬁrﬁmmﬁﬁqﬂ%@ww%sﬁﬂe, 20 HAT 249

number 16, 20 and 24./ @
[EEuEnEl
Two Bus tickets from city A t

three ticket from city A to B
fares for cities B and C from A?

Fo AT 77 T § ATHA Ad Beagrd®
AQ@T@BWC?@TET%WWW@W?

Divide the number 26244 by the smallest number so that the quotient is a perfect
Cube./m26244ﬁﬁﬁéﬁmﬁﬁﬂﬁﬁaﬁ,ﬁmﬁmﬂWW‘@W?‘TTI
/ 893X 100 a7l +

o B and three Tickets from city A to C costs Rs 77, but
and two tickets from A to C cost Rs 73. What are the
/A% B grex ST A 2 fee o A ¥ C orgr s #1 3 e fir
ST ¥ 3 Reraar A & C e o ¥ 2 e F fmq 73 Tn g

How many natural numbers lie between squares of 89 and 100.
S Foperr ST @E 2 27

What sum of money will amount to Rs 4235
t7/3 %a&ﬁe%ammﬁﬂﬁmzﬁaraﬁmmmmzssg‘rm?

A train moving with a speed of 90 km/hr crosses an electric pole in 15 seconds.
What is the length of the train in meters?/ & 90 Foret/erE A1 97T & =T ATeAT U LeE] U

ﬁwﬁ%mﬁ‘ﬁwaﬁﬁﬁmmﬁ%ﬂwwqﬁmrﬁuﬁmﬁ
' 4n+z_4n+1

Simplify /HT("T L —5;47:4‘,,'

) 1
in 35 years at 6 % per annum simple

interes
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¥.Q.9 Find the value of angles x and y./ Fr X STy T AT AT
= 21-5

3%

e
>

Ooy

—
Ld

10 Find the smallest number which when divided by 24, 36, and 48 leaves the
remainder 21, 33, and 45 respectively. Fa# S deaT ¥ 51 I S 24, 36 AT 48 & o 3

T T 21,33 AT 45 AT TAAT 8l - 17.0%9

i ; il . 13—. “-”"l
\/Q.ll FmdtheValueolxandy1f3x—7—; and x+;=1 n 7_7‘3/ 2.
wﬁBx—7=imx+i—=1§,ﬁxaﬂ1ymmmﬁl

Q.12 If 2 men and 5 women can do a certain piece of work in 4 days, while one man and
one woman can finish 1 in 12 days, how long would it take 1 man to do the work?/
af 2 qaw e 5 wfReTE U R A w4 Rt ¥ R 8, Tt 0 1E T v At o 12 A
TTFEF 21 AT 1 ATEH 1 39 F HF F A aoqT 6w’

Q.13 Divide Rs 4250 into three parts such that the second is 80% of the first and the ratio
between the first and third is 5:8./ 77 4250 1 41 st ¥ = g BT 77 % ga v A

80% =T 3T Tger T AEL 5 A 7 I 5:8
Q.14 In tue following figure, AE is parallel to BC. Find the values of xandy

fafe=tfaT srsfe & AE, BU % @9riaz 21 a7 X s y % AT AT HIS0

(6

\//Q.ls Pipe A can fill an"empty tank in 6 hours and pipe B can fill it in 8 hours. If both the
2 hours pipe A is closed, how much time pipe B will take

pipes are opened and after
mAﬁmﬁhﬁedﬁﬁwm%ww B sfrdsHrgsed

to fill the remaining tank./
Wawgnqﬁaﬁﬁmﬁ#@mq@ﬁrﬁﬁwgaﬁrzﬁ%mmA Fy &< T T ST § 4 9w
[0030

So A1 w7 7 2T B AT Ay gwg it g
Q.16 Find the smallest number of 5 digits that can be ex

5 s 1 i G T s R ot F ot € & 60, 90 sf 80 & sy &1 <
Q.17 Aboat goes 25 km downstream in 2.5 hours and 12 km upstream in 3 hours. Find
he stream. / FfEus AT &1 At e

the speed of the boat in still water and the speed of t : fr
qzs%ﬁzﬁiﬁz.sﬁﬁmwﬁwm%ﬁwﬂﬁﬁmﬁ12%%@3ﬁﬁﬂm%ﬁm |
W e oo qrelt  Aqrar it T ST F

actly divided by 60,90 and 80.7
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Q.18 In the given figure, LOM is a straight line. What is value of x.HA4q°

3 Ry 7 e & 9 LOM U % T@T & ¥ x FT A1 ;7 3

P

(3x + 15)° (x+5)°
. 0

L

T -

M

< Q.19 The area of a right angled triangle is 42cm?. If its perpendicular js equal to 10cm. - $4om

Find its base. /= ssror frqst #1 et 42 &f12 i S0 st 6 s 4
TETE Y =TS AT T AT 10 U 3 e 1 7

~ Q.20 Atrain covers distance between two stations A and B in 2 hours. If the speed of train
is reduced by 6 km/hr, then it travels the same distance in 3 hours, Calculate the
distance between two stations and speed of train. /o 37 &1 24 2ot A sic F i it gt
2 H g w2l AR T frafa 6 %ﬁ/ﬁawwmaﬁ%,a‘ragﬁ%ﬁmq&wqmﬁg,ﬂmﬁ

/ 3 i 1 8 sive 2 R A o ) < (@)

~Q.21 A copper wire when bent in the form of a square encloses an area of 121cm2. If the
same wire is bent into the form of a circle, find its area. / o a3 =1 qrewm v 1t & w=y

ST E AT Ag 121 T SAE H AT g1 AR THY I A S GG A AT AT T IH I H7 S 7T

i — VAam™

~Q.22 Rahim sold two of his buffaloes for Rs 20,000 each, on one, he made a gain of 5%
and on the other, a loss of 10%. Find his overall gain or loss. = Rbl%?QQ

TR AT AT HH H F TdF FT 20,000 0T 6 7T F I T T G 5% FHT A9 FACT & STt g9 9 3T 10%
/ &1 g ST 21 TEIH & o TS AT I 79 Hel

Y,

.~ Q.23 The price of machine depreciates at 10% every year. If the present value of the
machine be Rs 100000, what will be its value after 3 yrs. /o #sfta #1 g7 10% & 2x &
g 99 W 21 A1aT 21 F% T F7 FHT e 100000 F9AT & AT 3 a9 &% #efT F A FAT A0

PART B (10 x 10 = 100 MARKS)
(Answer any 10 / f=ft 10 wt % 39 )

Ny /
/(124 A can do a piece of work in 25 days and B can finish it in 20 days. They. work
together for 5 days and then A goes away. In how many days will B ﬁmsh the
remaining work? / Au# F %1 25 ﬁﬁﬁwwm%aﬁrBsﬁmﬁmﬁﬁﬁWWW?ﬁ
2 3 et frer 770 5 Rt % T AT 0 & o R A T ST & e i ¢ £ e A 71 B
«/ REtawmaem ;
~Q.25 A bus starts with some passengers. At the first stop, one-fifth of the passerlgf-‘drs V%it
down and 40 passengers get in.At the second stop, half of the passengers 8etf 4
X and 30 get in. The number of passengers now is 70. What was the nl;lg;;rq% TN
passengers when the bus was started?/ @Wﬁmﬁ%wﬁzy AR o &
AT 1 1/5 T @ A SaaT & St 40 AT = 7 <ed & {H%qsﬁﬂ‘fwﬁgp
30 Tt 77 7 i &, 1 AT A AT T AT 70 & Y e & e A

1 ’ R Lerl 2 + 1
Q.26 Find the values of @ and b so that x* + x> + 8x% + ax + bis .dmzs l:li)b};r(ﬁwﬁ?fx )%l
exactly./ a s b s AT s At ar vt + 13 +8x% tax + b T (x
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Q.31

Q.33

w

7 The marked price of bicycle is Rs 1100. A shopkeeper allows a discount of 10% and

get a profit of 10%. Find cost price of bic ' :

. ; ycle./ wa aréfrer &1 wfFd 47 1100 =74 &1 U

FHIRTT10% HT e a1 & 3T 10% FT 19 977 F2a7 ) Hﬁﬁwmmwmﬁﬁf%?

aAnI(;l?iS({nhcag build a tank in 12 hrs. After working for 6 hrs, he took the help of a boy

B rllls 6:‘) the work in another 5 hrs. In how many hours the boy can build the

agwe%on%é v (et foreft &5 A7 12 o2 & 397 7T 216 5 F A ¥ a1, A7 UF 99 F qgAqT AT E
5 5 7 FTH T T AT | 78 agT bt by 52 & I 3 F7 a7 a7 27

Usu_1g ruler & compass only construct a quadrilateral ABCD in which BC = 6¢m,

CD—4Fm, <B=75°, <C=90° and <D=120°. /5T U7 7=t i agrrar & vF 7q45r ABCD #T

=T FX SR BC = 6cm, CD=4cm, <B=75°, <C=90° 3f7<D=120°.

'_I'wp candles, one of which is 3 cm longer than the other, are lighted. The longer one
is lighted at 5:30 pm and the shorter at 7 pm. At 9:30 pm they both are of same
length. The longer one burns out at 11:30 pm and the shorter one at 11 pm. How
long was each candle originally?/ v etz 5 & uF gav & 3 &t &1 g, Io1s A7t 21 w1
HrHa<l 9T 5:30 o7 ST ST 9TH 7 a1 TS ATt 21 Td 9:30 S F ZAT FAHTT FAATE B i1 HTHAT T
11:30 &< THAR GIET T 11 TS o STl 21 T Fraadt go1 &7 § et =t 417

A number of three digits has the hundred place digit 4 times the unit place digits
and the sum of three digits is 14. If the three digits are written in the reverse order,
the value of the number is decreased by 594. Find the number. /&= 31 1 7 #=1 3

S T T S, THTE T 3 S T 4 [T & S AT S AT 14 Ear &1 A2 T A7 A7 307 797 7 Forar
ST &, T &AT &7 AT 594 FH &1 AT | HeAT 71 L

A man sells an article at a profit of 25%. If he had bought it at 20% less and sold it
for Rs 10.5 less, he would have gained 30%, find the Cost Price of the article.

e AT TF aE FT 25% % AT T 947 &l af 3 58 20% T 9T @A 2T AT =6 10.50 T FH 7
=7 2T, 91 37 30% FT ATH raTl & T AT qod AT

The height of a right circular cylinder is 10.5m. Three times the sum of the areas of
its two circular faces is twice the area of the curved surface./ Find the volume of the
cylinder. | v e g derd A1 3=rE 10.5 47 &) Tf =6% a1 gABIC TqE] & &AHA 6 AT T A1 0,
WWWHW%,ﬁWWWWWI

Amit lent Rs 2550 to Rajiv at 7.5 percent per annum. If Rajiv pays back the debt
after 8 month by giving an old black and white television and Rs 1422.50, find the
price of the television. /s 25650 T #17.5% g a9 =47oT % & T 347 & | AT Tofie 8 HEA AR
U [T ZeAtfas AT % 1422.50 TR FT 2 T SAYAT St ATIH HZAT & AT ST AT HT Too 71T F2

The following table shows the expenditure incurred by a publisher in publishing a
book:/ﬁqaﬁm#ﬁ:ﬁaﬁwﬁﬁm‘%aﬁﬁﬁwl

[tem Paper Printing Binding Advertising Miscellaneous l
Expenditure | 35% 20% 10% 5% 30%
(in %) J

Draw a Pie-Chart to represent the above data.
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